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3. o3& I™A sinx, cosx, tanx o] gF= 2|2 ofoi=h
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7. 0°<x<90° ¥, hF T &> A2
@ 0<cosx<1 @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 B -1<sinx<1
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Zte sin cos tan

44’ 1 0.6947 | 0.7193 | 0.9657
45° | 0,7071  0,7071 | 1,0000
46° | 0.7193 | 0.6947 | 1.0355
47" 0,7314 | 0,6820 | 1,0724
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@ 1.0724 ® 1.9657



11 A

@ tanA =
® cosB = g\/m

5 tanB = 3

N =

A ZFAY 71

=1

% ABC °l|A th=

V10
10

@ cosA:%\/ﬁ

@ sinA =



olp

11.

29

SERSESEES)

@ sin A

@ cos A

SRS RS RS

@ sinB

® cosB

® tanA



12. o2 2"olA /BAC = 90° o],
BCLAHO|t}. /CAH = x& & o,
tan x 9] ZF&?

)
@

)
®

©)

Ot >

S| W | Do
O | U | W



13.

% ABC oA sin A = = 0], BC 7} 4cm

OJH\D

3 S8cm @® 9cm 3 12cm



14.

ohe 27 2E 24718 ABC oA sin A —
o3 g}, 47H37HE ABC 9] Wolg Felofal.
C
1‘:2
A G

U‘Mlk

o], BC = 12



15. the a3 2L g we) Zolrb 19l
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16. A9 71013 A& Yetll= At = SE A2 2t =272 <]
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@ sinA @ cosA @ tan A
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17. /C 7} AZ4Q 2742 ABC 9|4 AB =2, BC =12 &

(sin B+ cos B) (sinA — 1) 9] g7
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2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826

@D 8.192 ® 5.736 ® 5.878
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20. ©+e "3t Zo] = ¥H AB AC
o] dol7} 20em I 0]5%

ABC ¢] Ylo]& ojgdloo %10}01

gt (&, sin20° = 0.3420, cos 20° =
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95. cos(2x - 30°) — ? & MEAIE ¢ o e WE TaEe (B
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